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2018 — iR ELETE 6| FTFEHETEILFER FEREHAAEITES 0.9 52 50 0 1 1 96.2
2018|— R ELETE )FTFEHETHRETITHI18 FREHTRIZE/H 1.5 35 35 0 0 0 100.0
2018 — R ELETE ) FEEHRIZ/B FRETIHEEIITHS 0.3 50 50 0 0 0 100.0
2018| — X EE290% ) FEEHRIZ/B FREHTAB2TH2 1.6 309 309 0 0 0 100.0
2018 —fiZ[=E:&2905 21$TFEHETARRI2T B2 FFEBETIRGAEIST B3 0.9 190 190 0 0 0 100.0
2018 —fiZ=E:&2905 2|FFEEHAEKAITEH2 FHEETARKAIST B 0.7 135 135 0 0 0 100.0
2018 —fiZ[E:&2905 2| EEHAEKESTET FFEHETTET 0.4 23 23 0 0 0 100.0
2018 —fiZ[=E:&2905 2| $T FEHETHT FFEHEMTET 0.2 4 4 0 0 0 100.0
2018 —fiZ=E:&2905 2|$TFEETEREAET3T B3 FFEBEHIREAEIST B 0.6 155 155 0 0 0 100.0
2018| —fi%[E 54605 2|#FFEEHY)E FEEATHZ R 1.2 99 99 0 0 0 100.0
2018| —fi%[E 54605 2| HETHEXE HHEMAHAR 0.7 23 23 0 0 0 100.0
2018| —fiX[E 54605 2| HETHAH HHEMAHAR 0.5 17 17 0 0 0 100.0
2018| —fiX[EE 4605 AlghEEhEr2T B4 FEEATHHERST B4 0.5 7 5 0 1 1 71.4
2018| —fiX[EE4605 4| EETHEF2T B20 27 % M h A BT 2.4 142 142 0 0 0 100.0
2018(F EM A EFHRALEFRE | REHAFREITET FEREHZAETITHI8 1.7 297 294 0 3 0 99.0
2018| F B A EHEHEEEIGE 2| EAHRGART B2 HEAHAE2T B 0.4 41 41 0 0 0 100.0
2018[F Bt A EF K HASEEHIGIE i XHETHREI3STH2 [HTEEHHESAISTHA 1.9 438 435 0 3 0 99.3
2018[F B A EF K HASEEHIGIE 0 FEATEFITEHl |[HEEHTEHFAITH2 0.9 76 76 0 0 0 100.0
2018| X EH A EIE S LEERR 2| #r A/ i% HrEET ./ i 0.3 10 10 0 0 0 100.0
2018| X EH A EIE S LEERR 2| FE AT/ i HMFEBEHKIE 0.2 15 15 0 0 0 100.0
2018[— AR R E K AR IUFT FK LR 2|$r AT ARA4ATHI16 FXEETH=E1THG 0.1 21 21 0 0 0 100.0
2018[— AR R E K AR U FT FK H LR 2|3 AT ARIT BS FTEEHMARIITH2 1 35 35 0 0 0 100.0
2018| — AR B E MK EFT R AR 2T EILFHE BHEEHTAARITHI2 15 156 156 0 0 0 100.0
2018[—REEEXRKELRE 21FEETXRE HEBEHEE 0.4 31 31 0 0 0 100.0
2018[— A% IR 1E A E{ZE 15 A MR 2| FEAET AR HrHEBEHAH 0.3 30 30 0 0 0 100.0
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